


NOTES:
   1. SEE CLAMP TIE ROD TORQUE SEQUENCE 
       FIRST PASS  8-10 FT LBS
       SECOND PASS  16-20 FT LBS

1 7

355 3

71 4

8 2

6

8 22
21

13

23

24

10

29

32

34

25

38

3

4

1

2

9 36

18

15 24

26

27

15

A

B ECO-4324 27-Mar-14 FIXED QUANTITY OF AH68010604NWO

A ECO-3570 03-Oct-12 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036

REV. ECO-# DATE APPROVED DESCRIPTION

REVISIONS

GF CENTRAL PLASTICS, LLC
39605 INDEPENDENCE, SHAWNEE, OK 74804, USAFINISH:

ANGULAR:

FRACTIONS:

UNLESS NOTED:

.XX

.XXX

SCALE:

WEIGHT:

DECIMALS:

DATE:

DRAWN BY:

MATERIAL:

TOLERANCE

TITLE:

APPROVED BY: DRAWING NUMBER: SIZE:

B
REVISION:

TITLE: DRAWING NUMBER: SIZE:

B
REVISION:

B

B
200445

JIG ASSEMBLY 28CQ

SEE BILL OF MATERIALS

~
 2°

~

 .01
 .005 

JIG ASSEMBLY 28CQ

200445

SHEET:
1  of  5

CTHOMPSON

ECO-3570

CT 10/3/2012 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036A

Any information contained herein or arising from or in connection with the use of this drawing is
provided by Georg Fischer "As Is" and without warranty of any kind, expressed or implied. The technical
data are not binding and are not expressly warranted characteristics. They are subject to change. Georg
Fischer shall not be liable regardless of the cause of duration, for any errors, inaccuracies, omissions,
or other defects in the information contained herein or arising from or in connection with the use of this
drawing, or for any claims, damages or losses arising therefrom or occasioned thereby. Georg Fischer
shall not be liable for any third-party claims or losses of any nature. 

This drawing is the property of Georg Fischer Central Plastics, LLC and is subject to
copyright and other intellectual property protection. It is not allowed to copy, reproduce, or transmit
this drawing to third parties without prior written permission of Georg Fischer.

72.18 LB.
01-Oct-12NTS



21

1

2

33

37

7

37

14

11

12
17

19
6

20

B ECO-4324 27-Mar-14 FIXED QUANTITY OF AH68010604NWO

A ECO-3570 03-Oct-12 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036

REV. ECO-# DATE APPROVED DESCRIPTION

REVISIONS

GF CENTRAL PLASTICS, LLC
39605 INDEPENDENCE, SHAWNEE, OK 74804, USAFINISH:

ANGULAR:

FRACTIONS:

UNLESS NOTED:

.XX

.XXX

SCALE:

WEIGHT:

DECIMALS:

DATE:

DRAWN BY:

MATERIAL:

TOLERANCE

TITLE:

APPROVED BY: DRAWING NUMBER: SIZE:

B
REVISION:

TITLE: DRAWING NUMBER: SIZE:

B
REVISION:

B

B
200445

JIG ASSEMBLY 28CQ

SEE BILL OF MATERIALS

~
 2°

~

 .01
 .005 

JIG ASSEMBLY 28CQ

200445

SHEET:
2  of  5

CTHOMPSON

ECO-3570

CT 10/3/2012 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036A

Any information contained herein or arising from or in connection with the use of this drawing is
provided by Georg Fischer "As Is" and without warranty of any kind, expressed or implied. The technical
data are not binding and are not expressly warranted characteristics. They are subject to change. Georg
Fischer shall not be liable regardless of the cause of duration, for any errors, inaccuracies, omissions,
or other defects in the information contained herein or arising from or in connection with the use of this
drawing, or for any claims, damages or losses arising therefrom or occasioned thereby. Georg Fischer
shall not be liable for any third-party claims or losses of any nature. 

This drawing is the property of Georg Fischer Central Plastics, LLC and is subject to
copyright and other intellectual property protection. It is not allowed to copy, reproduce, or transmit
this drawing to third parties without prior written permission of Georg Fischer.

72.18 LB.
01-Oct-12NTS



42

42

41

5

11
12

14 43

42

42

42

B ECO-4324 27-Mar-14 FIXED QUANTITY OF AH68010604NWO

A ECO-3570 03-Oct-12 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036

REV. ECO-# DATE APPROVED DESCRIPTION

REVISIONS

GF CENTRAL PLASTICS, LLC
39605 INDEPENDENCE, SHAWNEE, OK 74804, USAFINISH:

ANGULAR:

FRACTIONS:

UNLESS NOTED:

.XX

.XXX

SCALE:

WEIGHT:

DECIMALS:

DATE:

DRAWN BY:

MATERIAL:

TOLERANCE

TITLE:

APPROVED BY: DRAWING NUMBER: SIZE:

B
REVISION:

TITLE: DRAWING NUMBER: SIZE:

B
REVISION:

B

B
200445

JIG ASSEMBLY 28CQ

SEE BILL OF MATERIALS

~
 2°

~

 .01
 .005 

JIG ASSEMBLY 28CQ

200445

SHEET:
3  of  5

CTHOMPSON

ECO-3570

CT 10/3/2012 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036A

Any information contained herein or arising from or in connection with the use of this drawing is
provided by Georg Fischer "As Is" and without warranty of any kind, expressed or implied. The technical
data are not binding and are not expressly warranted characteristics. They are subject to change. Georg
Fischer shall not be liable regardless of the cause of duration, for any errors, inaccuracies, omissions,
or other defects in the information contained herein or arising from or in connection with the use of this
drawing, or for any claims, damages or losses arising therefrom or occasioned thereby. Georg Fischer
shall not be liable for any third-party claims or losses of any nature. 

This drawing is the property of Georg Fischer Central Plastics, LLC and is subject to
copyright and other intellectual property protection. It is not allowed to copy, reproduce, or transmit
this drawing to third parties without prior written permission of Georg Fischer.

72.18 LB.
01-Oct-12NTS



AA

3531

39 40
1621

SECTION A-A 
SCALE 1 : 6

30

B ECO-4324 27-Mar-14 FIXED QUANTITY OF AH68010604NWO

A ECO-3570 03-Oct-12 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036

REV. ECO-# DATE APPROVED DESCRIPTION

REVISIONS

GF CENTRAL PLASTICS, LLC
39605 INDEPENDENCE, SHAWNEE, OK 74804, USAFINISH:

ANGULAR:

FRACTIONS:

UNLESS NOTED:

.XX

.XXX

SCALE:

WEIGHT:

DECIMALS:

DATE:

DRAWN BY:

MATERIAL:

TOLERANCE

TITLE:

APPROVED BY: DRAWING NUMBER: SIZE:

B
REVISION:

TITLE: DRAWING NUMBER: SIZE:

B
REVISION:

B

B
200445

JIG ASSEMBLY 28CQ

SEE BILL OF MATERIALS

~
 2°

~

 .01
 .005 

JIG ASSEMBLY 28CQ

200445

SHEET:
4  of  5

CTHOMPSON

ECO-3570

CT 10/3/2012 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036A

Any information contained herein or arising from or in connection with the use of this drawing is
provided by Georg Fischer "As Is" and without warranty of any kind, expressed or implied. The technical
data are not binding and are not expressly warranted characteristics. They are subject to change. Georg
Fischer shall not be liable regardless of the cause of duration, for any errors, inaccuracies, omissions,
or other defects in the information contained herein or arising from or in connection with the use of this
drawing, or for any claims, damages or losses arising therefrom or occasioned thereby. Georg Fischer
shall not be liable for any third-party claims or losses of any nature. 

This drawing is the property of Georg Fischer Central Plastics, LLC and is subject to
copyright and other intellectual property protection. It is not allowed to copy, reproduce, or transmit
this drawing to third parties without prior written permission of Georg Fischer.

72.18 LB.
01-Oct-12NTS



A

A

A

B

ITEM 
NO. QTY. PART NUMBER DESCRIPTION

1 1 200436KT CLAMP, MODIFIED, LOWER 
STATIONARY, 28CQ

2 1 288208906040 CLAMP, LOWER SLIDING (LEFT)
3 1 200438 PLATE, BACK/END
4 1 200439 ANGLE, LEFT SIDE
5 2 300390 CARRIAGE CYLINDER ASSEMBLY
6 1 200440 ANGLE, RIGHT SIDE
7 2 288208915030 HANDLE, ASSEMBLY
8 2 006986000400 WHEEL, RUBBER, .375 AXLE
9 2 000203080012 BOLT, HEX HD .50-13 X 1.5" SAE GR 5-

ZINC PL
10 8 300371 ROD, CLAMP, CYLINDER
11 1 300381 MANIFOLD, QUICK CONNECT
12 2 000823040008 SHCS 1/4-20 X 1" ZINC PL

13 2 000003000300 NUT, ESNA 3/8"-16NC-3 LGT STD HGT 
PLTD

14 6 AH68010604NWO 90 4 BOSS / 6 37 Flare

15 6 000238000300 WASHER, LK SAE STD MED 3/8" PL 
16 1 200447 HANDLE STUD, 28CQ
17 4 000823030003 SHCS #10-24 X 3/8" ZINC PLATED
18 1 200442 HANDLE, 28LM
19 4 V00946 TOOL, HOLDER, SPRING ACTION, 1 

5/8"
20 2 006895000300 PIN, COTTERLESS CLEVIS, .50 DIA X 

2.00 GRIP
21 5 000823060012 SHCS 3/8-16 X 1-1/2 ZINC PL
22 2 000823060022 SHCS 3/8-16 X 2.75 ZINC PL
23 2 000203060022 BOLT, HEX HD 3/8-16 X 2.75 ZINC PL
24 12 000036000300 NUT, FIN HEX 3/8-16NC-2 PLTD A-307
25 4 000823060010 SHCS 3/8-16 X 1-1/4 ZINC PL
26 8 006985000100 WASHER, FLAT 3/8 THIN
27 4 000823050010 SHCS 5/16-18 X 1-1/4 ZINC PL
28 4 000238000200 WASHER LK SAE STD MED 5/16 PL
29 1 V00223 PIN, QUICK RELEASE, STAINLESS, .25 

DIA X 2.00 GRIP
30 1 V00752 STICKER PINCH POINT, 1.75 X 2.50

ITEM 
NO. QTY. PART NUMBER DESCRIPTION

31 1 V01006 LABEL WARNING, PRESSURING 2/0 
ON WHITE GLOSS

32 1 300464 RESERVOIR ASSEMBLY, 28
33 2 288208420020 BOLT, TOGGLE, 28
34 1 10012378 +GF+ MACHINE DECAL
35 1 10012036 COMBINED EFFECTIVE CYLINDER 

AREA DECAL
36 2 000238000500 WASHER, LK SAE STD MED 1/2" PL
37 2 280208905040 KIT, TOP CLAMP 28
38 1 288573020010 GRIP,FLEX 7/8" BAR SIZE

39 1 V00863 NAMEPLATE, BLANK, 3" X 1-1/2" 
STAINLESS STEEL

40 2 002905030003 SCREW, DR RD HD TYPE U #2 X 3/16

41 2 AH65040606 EXTENDER, 6M 37 FLARE

42 4 310016 HOSE ASSEMBLY, AEROQUIP

43 2 310017 HOSE ASSEMBLY, AEROQUIP

B ECO-4324 27-Mar-14 FIXED QUANTITY OF AH68010604NWO

A ECO-3570 03-Oct-12 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036

REV. ECO-# DATE APPROVED DESCRIPTION

REVISIONS

GF CENTRAL PLASTICS, LLC
39605 INDEPENDENCE, SHAWNEE, OK 74804, USAFINISH:

ANGULAR:

FRACTIONS:

UNLESS NOTED:

.XX

.XXX

SCALE:

WEIGHT:

DECIMALS:

DATE:

DRAWN BY:

MATERIAL:

TOLERANCE

TITLE:

APPROVED BY: DRAWING NUMBER: SIZE:

B
REVISION:

TITLE: DRAWING NUMBER: SIZE:

B
REVISION:

B

B
200445

JIG ASSEMBLY 28CQ

SEE BILL OF MATERIALS

~
 2°

~

 .01
 .005 

JIG ASSEMBLY 28CQ

200445

SHEET:
5  of  5

CTHOMPSON

ECO-3570

CT 10/3/2012 REDRAWN IN SOLIDWORKS ADDED AH65040606, 1002378, AND 10012036A

Any information contained herein or arising from or in connection with the use of this drawing is
provided by Georg Fischer "As Is" and without warranty of any kind, expressed or implied. The technical
data are not binding and are not expressly warranted characteristics. They are subject to change. Georg
Fischer shall not be liable regardless of the cause of duration, for any errors, inaccuracies, omissions,
or other defects in the information contained herein or arising from or in connection with the use of this
drawing, or for any claims, damages or losses arising therefrom or occasioned thereby. Georg Fischer
shall not be liable for any third-party claims or losses of any nature. 

This drawing is the property of Georg Fischer Central Plastics, LLC and is subject to
copyright and other intellectual property protection. It is not allowed to copy, reproduce, or transmit
this drawing to third parties without prior written permission of Georg Fischer.

72.18 LB.
01-Oct-12NTS
















	600273_B_REV_A.pdf
	600273pg1.pdf
	600273pg2.pdf

	600266_B_REV_C.pdf
	600266 p1.pdf
	600266 p2.pdf

	500347_B_REV_B.pdf
	500347 B REV_B.pdf
	500347 B REV_B Pg 2.pdf

	200445_B_REV_B.pdf
	Sheet1
	Drawing View9

	Sheet2
	Drawing View10

	Sheet3
	Drawing View11
	Drawing View15

	Sheet5
	Drawing View13
	Drawing View14
	Drawing View16
	Section View A-A

	Sheet4
	Drawing View12





